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—  TEST (i)

GENERAL INTELLIGENCE AND REASONING

Directions :In questions 1 to 9, select the related
!etters/word/nmuber/ﬁgu re from

alternatives.

1.  WVRT:MLG] - :

(A) HGCE
(B) - IHCF
(C) JIGE

(D) HGCE'

2

-

' 1~\}

Q) 47

(D) 51

SRNP :?

_____{__H s

the given

Al
4"\jr

B —

—~
)

PO  NM IH

: 3 2 w2
a1 27 17

o ST
(A) 77
o GF
B) 73
. GM
Q@ =5
o GV
D) ¢

DEFIANT : OBEDIENT : : DEPRAVITY : ?
*(A) GOODNESS

(B) SADNESS
(Ci  SERIOUSNESS
{5 COBEDIENT

COW JHERD : : FISH : ?

(AJERrROUP

(B) "CROWD
() QOLLEGE
(D) SCHOOL

ABC 17149 :: 72 : 4916
(A) BCD

() BDC

(C) CDB

(D) DIB
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(Q) JNIGE : _
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A (B) 43 _ (@) BCD
© 47 | A (B BDC
(C) CDB8
(D) 51 (D) DIB
& & & &9 s
P \!J ‘

AB 2010 I/Page3




(B)
(©)
(D)

(A)
(B)
(©)
()

0¥:08::7:64
(A).

09
16
25
36

MN eg: GEnm::?: AL sq.

qsLA
QS la
QslA
qSLA

Directions : In questions 10 to 18 find Hie odd

number/letters/figure/mumber pair from the given |

alternatives.

10, (A)
(B)
O

NN

T QA
(B}
(€)
(D)

12. (A)
(B)
(©)
(D)

TGRI
WDUF
NHLI

a

re 2 8t
113, 56)
(42, 49)
(36, 42)

ooo pqT

cced GH
il JMIN
sss TWX

13.

14.

15.

16.

18.

J

e

(A)
(B)
(©
()

(A)
(B)
(©
(D)

(A)
‘B
)

i

(A)

)

(©)
()

(A)
(B)
(C)
(D)

(A) (B)_

BRISK
VIGOUR
SLUGGISH
ENERGETIC

X Z »

7431
8354
5410
6421

pancreas
ductless glands
duct glands

parathyroid

Radio
Telephone
Television

Wireless
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(B) WDUF

! .:‘L n-rL 31 “l.!'
E e i
: e
8 01:08::2:64
| 13.
A (A) 09
(B) 16
(© 25
(D) 36
ant
M W/eg&_tEnm::i’:Aqu. -
(A)  gsLA =
$ A(B. "QSla
(C) QslA
(D) qSLA AR
&
A3t - Wy w10 A18 7@ 7, fog av fawear
oy mxa;mfangn%/mr gwgﬁ(n
: 2. L]
A0 (A) TE*'RI

(A)
(B)

ey

(D)

(A)
(B)
(©)

(D)

r4A0

a1 (firear)
vae (fam)
i

Sl

F &
A

NIy

X 21

X
31 357907 (A)

T *_10 2041227 {B) .8335‘1 T . J< \“
= e R pi @ = - O 5410 ,:’:‘ji ‘f
Ly Fve « T = sl AL 6421 e 2
i :
L (A) (72, 81 iy ATy :
A~ B (48 55 LBy afEid iy
Q) (42, 49) o e
(D) (36, 42) (D), WEg (rwgdse) __'
| .
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19. Arrange the following in the appropriate

sequehce :
(i) House
(i) Roofing

- (il Foundation

(iv) Lintel

(v) Plastering

(vi) Flooring

(A)  Gii) Giv) ) (9) (v3) ()
(B) . (i) Gv) (v) (55 ()
(© (v i) () (9)(v).6)
(D) ) i) () (vi) () ()

20. A series of figures are given which can be

graiped into classes. Select the group into |

which the fwures can be chusu:ed from
the sjvon responses. :

Question Figures :

2,6,7 1,3,5

589 | 24,6

1,3,4 7.8,9
© (D)

21. Arrange the following words as per order
in the dictionary.

(i) REPIECE
(i) REPEAL
(i) REPLACE
(iv) REPOINT
(v) REPAIR
(A) () (i) () 61) (¥)
B (v) (i) () (@) (v)
(©  (v) Gi) () Giv) (i)
(D) (i) ) Gid) Giv) (v)

Directions (Question number 22) :

From the alternatives, select the sel whrch ]
most like the given set. .

22. Givenset: (3,9, 27):
(A) (2 %6)
iB) 1.3 8
QN &L i
(D) | (5. 25, 125)

Directions : (Questions no. 23 to 29). A series
is given with oe terni missing. Choose the
corveci alternative from the given ones that will
complete the scries.

'23. L NP R

(AY A
(B) X
(SR 4
D) Z

SPACE FOR ROUGH WORK
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25,

< G 1,
F r J rs N Fa R r
K
—— A +
gD o HN o4 sHZ L
= (B) v
(A) (B)
K
: © g
56,7,8 10,11, 14, _2 .19
: M
(A) 15 N
B) 16
(€ 17 | 29. 857, 969, 745, 1193, 2
(D) 18 (A) 2089
A\ {B) 1084

ACZXP, BDYY O, CUEXZR, DFWAS)?

FHUCU
(A) FGVEY
(B) EGUBTY

<) EGYT
(D) EGVBT

7.14, 42, 168, .. -

(A) 750
- (B) 780
(C). 840
(D) 850

iCj 207

'i:‘r N

30, Santhosh s 5 rears older than his wife and
Pooja’s age now is thrice the age of theiy
daughtey Sangeetha. Sangeetha is now 10
vears old. What was the age sf Santhosh

5 _ when Sangeatha was born ?
. (A)y 20
(B) 25
(€ 30
(D) 28

AB 2010 1/ Pages
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s proferad @ wEwa i o 21 Freffera i ) e A 2w &
Fo A ‘ () REPIECE—"
@ o8 - (i) REPEAL~"
A Gy AN (i) REPLACE
' (iv) REPOINT

: -;--;f@).(i»—) fereet~... (v} REPAIR=—— -TD

e _ (A) () (i) () (i) (v)
\ w & T®) @y v ) o) @)
Q) (v) (i) (D)Kiv) (i)

i\

P 3 - (AYA (i) (v) (D) (v) (l)‘- _ ©) (i) 6 i) (v) )
QK (i) (i) (v) (i) (¥9). (i) ,

. (©  (vi) (i) (i) (iv) (v) 6) e (w7 W@ 22) -

(D) (D) (i) Gv) (vi)(v) ()" &qwﬁmﬁ#wwaﬁqﬁqa}%ﬂw
I de & wrg: 9arT B

© 20, i anpledl = SR femrn ¥ e a /23- fem e W2 ¥ 0039, 27)
© Ty W AFA S ral‘\f?rqrqa?‘q“;q (A) 2 4, o,

o6 T W A TEEH AFHTAF W AP > (B) 1,3, 8 E
. Fom 0 s 1 A [ EaEs o oE
N W?»maﬁﬁmi; (D) (5, 25, 125; o
\ 4—‘ é Py : (wvT TEAT 23 729 ) Uk AN faer §
' J ﬁfﬁmuaanz‘w frr g el 7 @ G AE
d. T | feEew ?ﬁaﬁﬂaﬂqﬂaﬁ:
23¥ LN, 1T, E, j

A) g = A5 .s.r\. Y}(\&;cif

b, B B 7, 3pe

(£ 10 § tl’x&j%\\
0) Z J ety
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Directions : (Question no. 31). Which one set

of letters when sequentially placed at the gaps
in the given letter series shall complete it ?

31.

« 32.

33.

34,

~ab-ba-d-ab—-ba-d

(A) babbbd

(BY ~dab-bdb

(C) bdabdb

(D) bdbbdb

If 8514 stands for BEAD and 3165 stands

for LATE, then which choice stands for
the word TABLE
(A) 61835

(B) 86145
(C) 61853
(D) 061584
If POWER is coded-as KILI:\T howiean. |

FAITH be coded ?
(A UZRGS
i GASGY
() FICRIU

D IRRY

Inga queue, Rita is 10 (i frone and
Sheetal s 25 from behind, vara s 1 the
middle of the two. I there ane st (50)
persons in the queue, what is Taras
position from the front ?

(A) 18"
(B) 19
(C) 20t
(D) 7

35.

36.

37.

After interchangingf and x; 5 and 8,

which one of the following becomes 2
correct equation ? -

(A) 8-(5%3) =25
(B) (3x5)—8 =34
(€ (5-3)x8 =2
(D) (5-3)%8 =12

Find the two signs which will make the
following equation correct if they are
interchanged,

94+6+3~12%2=17

(A) +and>

(B) +and=x

(C} +and-=

(D) +anu--

- Lo brother of Rama.
s b Krlsima.
(i) Palhiis tive brotlher of Naku
Naku is tie ddaughter of Rama.
Then who istheaincle of Pallu 7
(A) Krishna

(B) 5 Rama

(C) Naku

(D) Mala

SPACE FOR ROUGH WORK
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1 3
28. AC EG L,

< C-F !!'o rﬂ'\ 18
{‘_,'

(A) ¥ g

B’ = @
® v =

K I

@ 75

M 3

® 7™

-;_Liullf\%\&
87 941\ 1193, ? =

(A) 2089
(B) 1083

>
15, AGZXP, BDYYQ, CE,\T’,R DFWAS, ? o e =
RHIUCU . G 207, Nt
R P Y, i
i~y FGVBT (0, 297
T (B) EGUBT
{ M-
o (C) EGVZT 30. @M A UET SR 3 @ g9 71 20 a4
" (D) EGVBT T ) AP TWEN O e # A o 3
' il &1 Ar] $8 w2 10 A9 §) @7 i
(L ¥} ) &1 oA gAY S8 GHE Hd 1 3 #7412
27. 7 T4, 42,168, . e, & 3
C‘
(A) 750 (a) 20 posr_ Skt
- ~. A ‘H»f-)"‘
ST ®) 780 . B2 Tea.
T © 840 © 30 =
(D) 850 (D) 28
T w1 3 o s - " &
rf§3 i 1> | b“)gjly,ﬂ-
g “
‘;;T‘ﬂ- /> '3'0 _éi' »
r 13 76 20 Zrgin 3{,) .
7 24 2¢ 2n 7 DA
A ' '/,-".f w3 2 ': :'.., ‘,'.‘."11"{‘;
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Directioys fQues_ﬁon Mumber 38) -

From the given alterng
Which capyoy be formed
Siven word,

38, CONGRATULA TIONS

(A) GRANT
(B) cAuTION
(©) scHoOL,

(D) TRANSACT

- Directions : p, Juestions np. 39 15 49 select the

IMISSING rnybe, Srom the 8tven alternatipes.
39. 937 (28) 21¢

521 (2} 418

(A) 12 |
(B 17
Q) 2
D) 32

40. o 8
2R
3 2 .

B 2010 I/Pagei2

tives selecy the worg
uSing the letters of the

(A) 75 kms
(B) 80 kms
(S 65 kg

|

! 3 i -1
=\
¥

i Uniscrambio LR anizels (0 make
: T adanine

'I .

| R e
i

\.’.] R,!\If‘—
i)

H . - f
| N o T o
| uuﬂﬁiﬁi%e;;gﬂMEﬁm

¢

(AY () (wiiy (v i) v (7) (ix)
(B)  (iv) i) () V) i) rix) (viii) (vij)
(©)  (vii) (viii) (ixade, ovp () (i) (ii) (i)

(D) 9 ® ) Gy (i ol (v v
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1®
33.
Y i
xS
LY
34.
‘/
R

U 12 22 §
af BEAD 1 E 8514 ¥ 3 LATE #

@ 3165 ¥ 8 TABLE &1 Wdleh /a1 g ?
/ (A) 61835

(B) 86145

(C) 61853

(D) 61584

ﬁfdl%OWER F T2 W ﬂ‘lKLD\rl Fam

A W FAITH % Fe A T S e
UZRGS '

B JARGV

(C; HICRIU

(DY IRAIPY

3 (N

@qﬁ”ﬁiﬁﬁme;r?ﬁﬁwﬁummmﬁ%ﬁh
$ﬁﬂﬁﬁ5"ﬁ23ifmm@‘é%1muﬁﬁ=ﬁ
701 ¥ 2R W@ 31 i 50 7w
wEE d A s d R Em e ¥
~(A) 184 S
® 10T Ak g 23T
0=

17a

35.

e

VB

36.

]

Lad

v AA)
(B)

~(A)

— A=, 5941 § Hi v qean W frefates

7} P31 wHiwr wE & .
AA) 8-(5x3) =25

G- it
(8) e
sx(g-73
<€) kr )
(D)

(3x5)—8 =34
(5-3)x8 =126
(5—-3)x8 =12

N

e feres €@ fomd Q) fadl % wem egad
q W& ey Frwren s |

5+6+3-12x2=17

54ex30s
14 16~

= JUIx

+dix

(C) +uA=
(D)  +3ui-
5y FOR T i
(i) T FO E A
(i) eE T H A7
(B) ™

Q@ TF
(D) M=

6 &4 & ford g

.
i
1
-~ !
- ; * b
~
s -

s

Tl

S

O, CTT A ey
SR A

T ETR TR

tr T AT

3=

Vi
Al



Te€presents the relation

Indians, Doctors, and Surgeons ?

00
(A) O

> @
T @

(D)

ships between

45.

Which of the two number
same category ?

/\ = Physicians

S represent the

* O=Rich persons

(O=Surgeons
= Greedy persons

(A) 5 and 14
(BY 9and 1

(C: 2and 10

T Wy
. " |
.-—'\shokstarts om A or oaiks by Bast ] 46. A croup of friends 15 silting in an
‘B". Then turns South - - .- s aalks Lo AL with onge each af e corier
T Then he turns So.iy v wadkswo O adlosan, Al are facing the centre.
Lastly Re turns Fast nzan and walks (o Mudha'is sitting diagonally opposite
‘L. - Which of the ansver figures is the Ra.dha wiwgis on Seema’s right. Raman is
exatl path he has walked : heiBSeema and opposite 1o Govind who
. is i Chandra's left. Shanti is nol to

Medha's right but vpposite to Shashi. Who

is opposite to Chandra ?

{AY Raman

(B) - Shanti

(C) Radha

(D) Seema

SPACE FOR ROUGH WORK
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e
‘ ﬁgw(mas & fer?) :

| fydor: w39 3itra0 W, R A fawent ¥ 8
T {1 HAT | :

ﬂqgwwmmgmwmww s

Wa@;ﬁaﬁ?mwm:
' /8 C;ONGRATULATIONS o g A
(A) GRANT
... (B) CAUTION
(&7 1 seHooL
: (D) TRANSACT

S - E5R gy

PUBITINNES YOGS . -8 R ——

N3 7 b-2an LI v 4
= WED R 2y

1. aaﬁﬁqﬁs%m@fmﬁgﬁ@“r“
w1 3T FTEH & S0 150 iR, HFHWEN
e o 25 53R, et A g T ¥ 3
15 5. Tl 31 6% =8 98 @I g I §
s5irg 25 e ). e & ol A7 I W ug F
ﬁquﬁ*"rf&mﬁg\qmﬂ 3 =
rﬁ?%ﬁ%maﬁmmgaﬁmﬁﬂﬁg
W Fae 35 fEd, we ¥ 3 feafa |7 <R
it & oftm 1 g fee. @it 2

(A 75 el

o)

(B) 80 f.Hi.

p—t o o
39. 937 (28) 216 T‘“’*: e R N LAC) 63 T
w6 '
521 (7)) 41 — "
\-\ R YA Y .. (D) 83 F.Al
n (a) 12 S qad
/ s 17 E” (D
/ i Tt 2 pT. = A SRR SRS 2 1 2y
b7 32 FE GIHE 57 4% 06 |
L_E_‘I _______ '
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Directions : In questions nos. 47 to 48 one/two | 497 1f a mirror is placed on the line MN, then

statements are given followed by four/two which of the answer figures is. the right ﬁi??f
conclusions/ assumptions respectively. You image of the given question figure ? -
have to consider the two statements to be true _ )
even if they seem to be at variance from M N . gedle
commonly known facts. You have to decide
which of the given couclusions/assumpt:'m:s, if et
any, follow fromn the givenr statesnents. T &
47. Conservation of ecology leads to the ' 47. O
developments technology i
Assumptions (i) Technology and ecology g olo = .
are interdependent. :
(i) Development of e =T 3E
Technology = depends " 5
upon conservation of ’ ) (B) © ®)
technology: ' ' (
(A) If (i) is implicit. D
B) (i) is implicit, ] ' ~
( @ ¥ _ . 50. Six different figures are drawn as shown @ {r
{C) Both (i) and (ii) are imylizs in the figure : T
iTh Both (i) and (iij are not Q0 R i
' : A paper i3 fuidza aw shown in the figure
: toforma oo C = o. thovigure opposite
At ranats ISR S .. i o @i sl ] 1. %
- (B) No benzh i- 4 l: '
Coasiusions @ i) Some skirts ave sbies, o[ =) f=
" (ii) Some benchas .7 skirts: [0ol=la)
: | =]
(iit) Al benches av skivts, TS
(ivy Some tables ai sKirts. '
(A} Only (i) follows '
) g . - R
(B) Only (i1) follows 7 /\ - 3 ’_s_'_) (B
{C) Only (i) and (iv) follows _ '
' 48
(D) None of the conclusions foliow. (A) (B) (< ()] : (€
(C
SPACE FOR ROUGH WORK '
B 2010 1/ Pagel6
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TEST (ii)

GENERAL AWARENESS

51. The percentage of silver present in the alloy
German Silver is :
(Ay 25
(B) 10
@ >
(D) zero
52. ‘Made in India’ exhibition was organised
by CII in August 2009 ats
(A) London |
(B)  Paris
{C) Tokyo !
(D1 Jakarta '
2i. W hatis the maximues possibie strengthial, |
the {ogislativ o assembly ok 2 Hade 3
v 0 members o
« (Bi 500 members
1< 425 members
( b} 545 members -
34, The hardest substance in the hLama n body
i5
{A)  Dentine
By Compact bone tissue
(C)  Periosteum
(D)  Tooth enamel

AB 2010 1, Pagels

55.

56.

58.

Food Corporation of India was set
for: )

(A) Procurement of foodgrains
(B) Storage of foodgrains

(C) Tmport of foodgrains

(D) All of the above

At which temperature will water be the
heaviest ?

(A) 0°C

(B 4°C

Q) 37°C

D7 100° C

Stanand the Biosphere rrogra

yoas, formally faunched b i) 720

Vaar

fay 1970
i) 1971
(C) 1972
(D) 1974

Effect of an indirect tax is to :

(A) increase the prices -

By reduce the prices

(C) decrease the incomes
(D) keep the prices constant

-

u

Lot



59. The famous rock -

|
cut temples at

Elephanta are ascribed to the :

(A)
(B)
(C)
(D)

Pallavas
Cholas
Rashtrakutas

Chalukyas

60. Ifa paper wiapped tightly around the joint
of a brass tube and its wooden handle is
put in a flame, then the paper will :

(A)
()

1y

catch fire immediatly -
not burn at any. place
burn around the brlaSS tube

burn around the wooden Randig
*

vt sland indn L, Lo, 4
Miadagascar o
Maidives

Sumatra

Lakshadweep

62.  The organisational charge to turn the
Congress Party into a rezf mass political
parnty was made for the first time in -

EALT

Ty

1911
1918
1920

1930

AB 20100 § “Page20

63. The aim of Environment Protection Act

64.

_
63

66.

1986 is -

(A) to protect and grow forests '
(B) to grow and protect wild and rare
: animals

(C) to arrest environmental pollution
(D) all the above

In an atomic explosion, enormous energy

is released due to -

(A)
(B)

()

(D)

.

What ic the number of

conversion of light energy into heat
energy

conversion of heat energy into light
enery

conversion of mechanical energy into
nuclear energy

CORversion of mass inlo gnaie

aach

plavers

team in Base bajl ?

(a)
(8)
()
(D)

1

g

6
&

Milk is an example of ;

“(A)
(B)
(C)

()

emulsion
suspension
foamn

solution

D)

V]
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67.

68.

69.

£
&)

North-South length of Indias ;

(A) <2800 kms.
(B) 3100 kms.
(C) 3200 kms.
(D) 3500 Kms.

The book ‘Sahibs Who Loved India’ has
been written by :

(A) Khushwant Singh
(B) Pankaj Mishra
(C) Usha Bhagat

(D) Mulk Raj Anand

‘What is the new lease yeat for ‘Wholesale
Price Index’ on the reconmendation of
Abhijit Sen Committee ?

(A) 2000-01
(B) 2001-02
(C}  2003-04
dhse 2004-05

The famous woman riler o7 o
Lo was

» upla

f~) Kuberanga
{B)>» Kumardewi
{t_y  Prabhabati

(D) Rajvashree

The weight of a body at the cenlre of earth
will be : '

(A) the same as that on the surface of
the earth

(B} more than that on the surface of the
earth

{C) about half of that on-the surrace of
the earth

(D)

7ero

2010 1/Page2?

72.

73.

74.

75.

Two conducting pa'rallel wires carrying

current in opposite directions will:
(A) Repel each other

(B) Attract each other

(C) Experience no force between them.

(D) Rotate perpendicular to each other.

‘Dyarchy’ was introduced at the centre by
the Govt. of India Act of :

(A) 1858
(B) 1935
(C) 1919
(D) 1909

King “Chandra” of Mehrauli tron Pillar

Inscription has been identified by the

Yy P 5 '
hisiorians visl: .

(A)  Chandragupta Maurya

: 2 - : . :

(By Chandragupla I

(C) “Samudragupta

(D) Chandragupta 1T Vikramadilva

The trading instrument called the dollar

index has a bag of world currencies against
which the value of dollar is calculated for
trading. The number of such world

currencies is :
(A) five
{B) " six

(€) eight

(D) twenty
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76.

77.

Which one of the following is the leading
producer of natural rubber ?

(A) South America
(B) - South East Asia
(C) South Africa

(D) South Australia

The Grand canyon is located on the river

(A) Congo

(B) Huang Ho
(C) Nile

(D) Colorado

.
becoin

LRSS TR Y L § 4 FA 0

wis on the
perioulit’s Principle ?
i

A Gasslove

{B) Gas lighter

- (€©) Cycle pump

(D)}  Bunsen burner

We can declare that a person is clinically
dead when there is :

* (A) no heart beal

{B) nwolife in brain
() no movemeot in pupil to the light

(D) no pulse in person

311 1/ Page2d

80.

81.

82

| 83.

A multipurpose project named after a
Buddhist Monk is

(A) Tungabhadra

(B) Chambal

(C©) WNagarjunasagar

(D) Hirakud

What is BCC in E - mail ?

(A) Back carbon copy

(B) Back correct copy
(C) Blind copy to copy ~

(D) Blind carbon copy

Whidit ssced occupies the dominan:
pesit:ih. - Toaad oilseed produciis in
India

.
(Ay U el o

(B) Mustard
(CQ) Limsced

(D) Sowabean

Which of the mixed doubles tennis matches
was won by Sania Mirza along with
Mahesh Blwupati ?

(A) Australian Open 2009
(B) U S Open 2009
(C) South Africa Tennis Open 2009.

(D) None of the above

o
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(57

.o
€ e

4. t aircrafts fly through the ;. ?-'gi— .1 89.  Which Hindi Film won the award for the
9 W i g v P L “Best Film on Family Welfare” in the 55th
(A) upper troposphere-" . - Nationad Film Awards for 2007 announced
. 35 -
(B). - lower stra tospher;y‘l‘ in September 7, 2009 ?
(C) upper stratosphere (A) Dharm
(D) dower mesosphere (B) Taare Zamin Par
: (C) Chak De! India §
85. Which of the following States is not having ) )
bicameral legislature ? (D) Jab We Met
(A) Andhra Pradesh : o
(B) Tamil Nadu : ; :
_ 90. The ‘Minimum Support Price’ (MSP) for gﬂ :
(C) Bihar & wheat is fixed on the recommendation of : v/
D) Uttar Pradesh ' -
() ar prades (A) Planning Commission
86. How many chambers does a cow’s By Wibstry of Finance d 8t
stomach have ? ) (C) Ministry of Agriculture
(A) One : - o : -
v : . (D3 Commission for Agriculu:ra ™ hess
(B) Two ) Y : ind Prices,
) Three . wg M 1
Gy Four : B -\H‘:,/;
¢ ) 91. T i3 a0 ;
| ' > icani . 87,
7. Which was the first all India Movement (A) liece of stem A
: . . i ?
lau\nchen by Gandhiji ? N FI®er bud |
(A) Civil disobedience movement N AP
. : (S} Fruit . iGN
(B) Non - co operation movement e V)
_ - N
(C) Rowlatt Satyagraha . . (OF gipther _ _
(D) Bardoli Satyagraha _
_ 92. Which is the only bird thal can fly
88.  Which country is the world's largest backwards : %
emiiter of carbondioxide ? 61 Pessock
{A) USA.
(5) China (B) Fluinming Bird
(C) India (C) Parrot
(D) Canada (D) Pigeon
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P3.

- 94.

96.

Cﬁand Bibi belonged to the Kingdom of :
(A) ~Ahmadnagar

(B)
(©) Berar
(D). Goleonda

Bijapur

Which one of the following plants has the

largest flower ? y

_(A) Rafflesia
(B) Sunflower
(C) Zinnia
. (D) Chrysanthemum

What is the correct sequence of the
following events ? :

(iy  Cripps Mission

Gt Wavell Plan

(iii) Cabinet Mission

{iv) Quil India Movement
(A) (1) (i) (1) (iv)

(B) () (iv) i) (i)

(©) ) (i) () (i)

‘ (D)

(i) (iii) () iv)

Where was the 40th ‘International Film
Festival 2009 held ?

(A} Mumbai
(B) Panaji

(C) Hyderabad
(D) Delhi

B 2010 {/Page28

98.

£9.

100.

LR

Wiha nveriied the telephions 2
(A) Alexander Graham Bell
(B) Thomas Alva‘Edison
(€) Gugileime Marconi

(D) Henry Cavendish

Beyond a certain point, deficit financing
will certainly lead to:

(A) inflalion
(B) deflabon
(C) recession

(D) economic stagnation

Which 15 mot an inpis

:mputar ?

122 of a

S, eyboard
<51 Alouse

{C)  Scanner

D)  Nlonitor

The Comptroller and Auditor General of
India has been considercd as :

{(A) Friend, Philosopher and Guide of all
Parliamentary Committees,

(B) Friend, Philosopher and Guide of

Public Account Comumitties
(C)  Friend, Philosophetan.| Gittiste ~f the
Council of Ministers,
(D) Friend, Philosopher and Guide of
Bureaucraej.'.

—N

r)

95.

96.
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(C) st 7 m Qv
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(A) haw - :1?@%33&21%?%?
B) hal o ' |
EC)] h:mgw g?:)) }g
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181.

152,

153.

154.

- related by the identity :

TEST (iii) PART - (B) GENERAL ENGINEERING
(ELECTRICAL AND MECHANICAL) -
MECHANICAL

Surfaces to be machined are marked on
the pattern by the following colour :

(A) Black

(B) Yellow
(C) Red
(D) Blue

In order to facilitate the withdrawal of |
pattern :

(A) Pattern is made smooth

(B) Water is applied on pattern surface
(C) Allowances are made on pattern
(D) Draft is provided on pattern

Work done in a free expah.si.(‘jr'}‘.}ﬁrocéss is
(A) _Positive

(B) Negative

(C) ~ Zero

(D) Maximum

The height ‘h’ and angular speed "o’ for
the Watt governor and Portar governor are

(A) hao .‘
(B) hal/w
() hawo?
(D) hal/w?

155. The surface of gear tooth below pitch

surface is called :

(A) bottom tooth

(B) face

(C) fank

(D) dedendum portion

. An open system is one in which :

(A) Massdoes not cross boundaries of the
system, though energy may do so

(B)  Neither mass nor energy crosses the
boundaries of the system -

(C) Both energy and mass cross the
boundaries of the system

(D) Mass crosses the boundary but not
the energy

- For maximum power transmitted by belt,

the maximum permissible tension in the
belt is :

(A) . Equal to centrifugal tension

(B) Twice the centrifugalension

(C)  Thrice the centrifugal tension
(D). Four-times the centrifugal tension

158. When a wire is stretched to double in

length, the longitudinal strain produced
imitis :

‘(A) - 0.5
(B) 1.0
© 15
(D) 2.0
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159, 'Resilience ofa m‘aie;ial is considered when

160.

161.

162.

(D) Decarburisation

A{Q)  vertical, flow upwards

(D) Coating on the mould face _

it is subjected to:

(A) frequent heat treatment
(B) fangue '

(.C) f:reep

(D) _shock loading

Which of the following is not a casting
defect ?

(A) Hot tear
(B) Blow hole
(C) Scab

Venturimeter is used to measure flow of
fluids in pipes when pipe is

(A) horizontal

(B) vertical, flow downwards

(D) in any position

Cope in foundry practice refers 1o :

(A) Bottom half of moulding box

(8) Top half of moulding box

(C) Middle pbrtion of the moulding box-

163. The phenomenon of weld decay occurs

164,
- body tend to elongate it, the stress <o

165,

166.

- (B) Brass

m:

(A) Cast iron

(C) Bronze.

(D) Stainless steel

If equal and opposite forces applied to a

produced is called :

(A) internal resistance
(B) tensile stress

(C) transverse stress

(D) compressive stress

The property of a fluid which enables it to
resist tensile stress is known as - o

(A)  Compressibility

(B) Surface tension

(C) | Cohesion

(D) Adhesion

Kinematic viscosity is equal to :

(Aj Dynamie viscosity / density
(B) _ Dynamic viscosity x density
(C) Density/ d)}hamic_viscosity
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160.

161.
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(C) "I T w1 Wy wp

(D) A% woF AT

163.

164.

165.

166.
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(A) ol de A

(8) ad

(C) = d

(D) - wFew Wt d

afe feddt fem W 2@ v e ok farda
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(A) sriafes wfady
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(C) desH
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167.

168.

169.

170.

(C)Blinks

A simple mechanism has -
(A) 1link
(B) 2 links

(D) 4links

A universal joint is an example of :

(A) Lower pair

-(B) Higher Pair
-(C) Rolli.ng pair

(D)  Sliding pair

In automobiles the power 15 fransmitted
from gear box to differential through :

(A) bevel gear

(B) universal joint
(C) Hooke's joint
(D) Knuckle joint

The work done in the expansion of a gas
from.volume V, to V, under constant
pressure p is equal to :

(A)" zero
(B) P (V-vy)
(@ PV Vy)

D). p(Vy+Vy)

171,

172

173.

174,

175.

Inversion of a mechanism s

(A) Changing of a higher pair to lower
pair '

(B) Obtained by fixing different links in
a kinematic chain

(C)  Turning jt upside down

(D) Obtained by reversing the input and
output motion 3

Cochran boiler is a

(A) Horizontal fire-fube boiler -

(8) Horizontal waler-tube boiler

(C) Vertical water-tube boiler

(D) Vertical fire-tube boler

The strain energy stored in a body due to
direct stress “f * is : :
(A) f/ 2Exvol

(B) f2/Exvol

(C) F?/2Exvol

(D) 2f/Exvol

Continuous chips are formed when
machining

{A) ductile material
(B} brittle material

(C)  heat treated material
" (D) none of the above

The efficiency of Carnot cyde 1s maximum
for :

(A) Gas engine

- (B) Reversible engine
(C) Petrol engine

(D) Steam engine
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167. ﬁmwmﬁﬁ@?ﬁ%_: 171. Faelt damel F1 ep : .
(A) 1 &S (A) gﬁgﬁ*ﬁﬁﬂﬁpmgw a'rq-r:n
(8) 2 @) Fd et sjaen ¥ fus wfeE
(€) 3 wfel | TR TR foRar s @
(D) 4 wfe (C)_.ajﬁ‘aaz%m%\m% |
_ () Frdw e fofa 7 F1 sepmv & W
- 168, WEfGW g W RE T _
(A) (Frerat 7@ w1 172, 6 @IgeR T «
o N ﬂ{' P (A) st af -afas «faer
®) IR ®) e Sie-Afas aEe
S @) (©) 53 T TR
(D) w4l 7T 6l (D) e AAfA-Afas e
| | ; 173. @9 vfaad 'f’ & R fe e ﬁuaﬁa
160, ST ARG AR R | pee ik ™
Fym firgd mem A fEm s 22 (A) £/ 2Exvol
(A) ¥ frR (B) £/Exvol
(C) F/2Exvol
(B) wfcn g (D) 26/Exvol -
© wwmay 74, Fr Fara ) ¥ e @ T
() THE WS (A) . @4 = H
- (B W T H
170. feex @@ p & aiafa feet fu & nyeA (©) WWﬁﬁmﬁ
Vv, AV, 7 var 3 fma m F R (D) 3w fasll #1 ot T
(A) A | 1 175¢ m_am#tzmaﬂ‘umﬁ?ﬁ%: '
(B) p(V,-Vy) & TR (A)- A $m & feg
(C) p (Vo+Vy) & TR (8) g.ﬁ‘ﬂ?“j_“i-‘ﬂq%m_
: N (C) g T30 & fog
(D) Py SR (D) a5 ¥ ferg
' 1% w1 & e g T
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176.

> 377

178.

(D)

179.

20
220 E&oﬁ '\%

The shear force at certain section of a beam

is stated to be zero. - The bending moment
at that section will be :

(A) Minimum
(B) Maximum
(C)
(D)

Either minimum or maximum
Zero

For a slider crank mechanism, the velocity
and acceleration of the piston at inner dead
centre will be : :

(A) 0and 0

(B) 0and w?r
(C) Oand < w?r
(D) 0 and > w’r

where “w’ is angular velogity of the crank. |

and ‘' its radius,

ll.”.rc.)jécti.dn_ welding is :
(A)
(B) Continuous spot welding process
(©)

Multi-spot welding process

Used to form mesh

Used to make cantilevers

Which of the followirlg 1s an irreversible
cycle ?

(A) Carnot

(B) Stirling

(C) Ericsson : :
(D) None of the above

180.

181.

Piezometer is used to measure :

(A) Pressure in Pipe, channels etc.
(B) Atmospheric pressure

(C) Very low pressures

(D)

points

Shrinkage allowénce is made by :

(A) Adding to external and internal

182.

183.

dimensions

(B) Subtracting ‘from ekternal and -

internal dimensions.

(C) Subtracting. from external
dimensions and adding to internal

dimensions

(D)

Adding to external dimensions and
subtracting from internal dimensions

The polar section modulus of a solid
circular shaft of diameter ‘d’ about an axis

Ahrough its centre of gravity is :

(A) (/8) / d®

B (x/16) / d3
Q) (=/32) / @3
(D) _(z/64) / d%

An idler pulley is used :

(A) For frequent stoppage of motion

(B) To maintain requisite tension in the
belt ;

{(C) Tochange the direction of motion of
the belt J

(D) Torunonly during non-load periods
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(D) YA '

177. Qdt She dage & fag, aqmﬁﬂﬁﬂfwﬁt
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(A) 03RO . ‘
(B) 0 3R w?r
(C) 03 <@?r
(D) 08N> au2r
Sl o’ B W Wil AN ¥ SR sewt
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178. W&y afesn
(A) agrurfis afegn whn
©) W e afedn v
(C) i 7R & forg welnt 7 vl @
(D) FAAR e F e wivn #1 wdt @

179. Frerfafaa 3§ A sm-w sufasa 5% 872
(A) T
(B) feexfein
(C) yfmwd
(D) 3w § AV FK N} FE
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184." Compression ratio of I.C. engines is :

185.

186.

187,

(A) " The ratio of volumes of air in cylinder
before compression stroke and after
compression stroke

(B) Volume displaced by piston per
stroke and clearance volume in
cylinder

(©

Ratio of pressure after cofnpres’éion
and before compression

(D) Swepi volume/cylinder volume
Modules of rigidity is the ratio of - .
(A) Axial stress to lateral strain

(B) Linear stress t(; longitudinal strain
©

(D)

Shear stress to 5hear strain -

strain
Size of shaper is specified by ;
(A)
(B) Size of table

Length of stroke

(C) Maximum size of tool

(D) Ratio of forward to return stroke

Impulse turbine is used for :
(A)
(B) high head
(C) medium head
(D). high flow .

low head

Hydrostatic stress to volumetric 1

|
188.

| 189.

190.

191,

192.

R

Heat and work are --

(A) Point functions

(B) System properties
(C) Path functions

(D) Intensive properties

Crank, connecting rod, cylinder ang
piston of a steam engine constitute :

(A) One link

(B) Two links
(C) Three links

(D)  Four links

The elastic constants E,GandK arerelateq
by the expression -

(A) E=GK/K+G

(B) E=GK/2K+G

(C) E=3GK/K+2G .

(D) E=9GK/3K+G

The equation of continuity holds good
when the flow : "3

(A) Is steady _

{B) Is one dimensional.

(C)  Velocity is uniform at all the cross
sections '

(D) Al of the above

In a diesel engine, the fuel js ignited by :
(A) Spark ’

(B} Injected fuel

Heat resulting from compressing air
thatis supplied for combustion

(D) Ignitor
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185.

186.

187.

g T ST ¢

(A) a&ﬂﬂuﬁaaaﬂtmﬁaﬁﬁﬁa;ﬁm

@®) s veaa sl arqded fagfa @
(©) svawTY yfae I STawqer fagia #1
(D) saedfad yfrad R el fapld

Fl

AT 7 oy Fafifi Foent <y § -

(A) ¥ F et grRI

(B) UTH & HIFHR Z '

(C) IR ¥ Afirdan SFR gR

(D) 3 Wi F whiadl ©F F w1 A7
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(A) =4F gt & fe
(B) = e ¥ feng
(Q) wem et & ferg
(D) mw%ﬁq -

188.

189.

190.

191.

1983

Fe IRFEEL :

(A) fog wer
(B) ¥ Tore
(C) 9Y wert
(D) wrAr ey Torerd

faaft i g5 1 FeR, Yors B3, Tafeiet sl
f‘ﬂ?‘lmﬁz

(A) . TF T

®) R Ffer

(C) - =wfear

(D) =R wHfear

vy feris E, G 3 K feg =i go
Hafa 72

'(A) E=GK/K+G

(B) E=GK/2K+G
(C) E=3GK/K+2G
(D) E=9GK/3K+G
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193.: Second law of thermodynamics defines -
vs _fﬁ&) entropy
AMC-= | 14 {(B) enthalpy
ey B AC) heat
ﬂ/l“'b "@D}——wqu
Wy o] -
194. The following type of chip is produced
" when machining ductile materials '
: (A) Continuous chip
. (B)
(©)

(D)

Discontinuous chip .
Continuous chip with built-up-edg

No chips are produced

195. An ideal flow of.any fluid must fulfill the

foltowing -
(A)
- (®)
(©)
(D)

Newton’s law of motion
Newton’s law of viscogsity
Pascal’s law

Continuity equation

196. A cylindrical rod of length ‘I' and diameter

‘d” is rigidly fixed at its upper end and
- hangs vertically. The elongation produced
! in the rod due to its self weight "W’ is :

- (A) WI/AE
(B) WI/2AE
(©) 2AE/wWi
D) 3WI/2AE -
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157. True stress represents: the ratio of -

(A) -_AVerage load and average area

(B) Average load and maximum area
(©) Maximum load and maximum area
(D) Instantaneous load ang the/

instantaneous area .

198.

The term N.T.P. stands for :
(A) Nominal temperature ang pressure
(B) Natural temperature and pressure
(©) Normal témperature and pressure
(D) Normal therrnodyna_mic practice
199 The first law of thermodynamics is the law
of : :
(A) conservation of mass
(B) conservation of energy
(©) conservation of momenituin
(D)  conservation of heat
5 A
200. Mixture of ice and water-form a :

(A), Closed system
(B) - Open system
(Q) Isolated system

(D) - Heterogeneous system

-00o-
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193. swmfas! &1 g0 Fag 9fifia s
(A) uEhd
(8) @A
(€ v
(D) &l @)

194. mzaq’fﬁﬁwﬁﬁﬂ*ﬂﬂmﬁﬂum%
fag a7d

(A)( o frg

(B) fafss= fug _ ;
(©) wow feie =t sxfafeos fag
(D) = fam & =43

195. Wnﬁmmay&rﬂmﬁmfﬁﬁmﬁ
SErCRE T B

(A) n{a_arml%lﬁm

* (B) . =& H varn Figm
(©) urere Fram |
(D) widq FHfEHm

< 196. FaE-r o o @ W 0 FafeuER 9

197.

| 198.
- (B)
1©)

199.

200.

- ®

(A) HElT w@ee %

mmﬁmuﬁlaa:ﬂiqﬁmhl%

(A) ammaﬁzmamm _
aﬂﬂamaﬁtmﬁﬁm%mm
(C) ifraan wR aiR sfawan Aswd

(D) . awefod wR 3l arcesfors S 5

N.T.P. 1 @ &9 2 :

(A) Nominal temperature and pressure

- Natural temperature and pressure ~
Normal temperature and pressure

(D) Normal thermodynamic practice
st F1 Tgen Fran faast fam 32

(B) il wea
(€) w31 e+

(D) =1 W& FH

Atk 3R 9 H g "

\ (A) <
I 98 ol W ged A for # wE § Rk ;
Pl wes @ ¥ vg N EF a9 R (8)  forga :
W e 0 e 2kt (©) fawm i
(A) WI/AE (D) fawmin wix
(B) WI/2AE : : :
(C) 2AE/WI Ao ;L
(D) 3WIJ2AE. - . w5 el e
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